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1. ROALEXRZMIETER 222 THITFTX. (S0P, AR15108, BR1350%, C#24 308 )

(1) 0<£z<3 2 -—-l<z<4
(3)  VI0OLz<4v2 (4)  —2V3<x<3V2

2. ROPEXZW TS e Oz ko L. (S 18%, Atk 25, B#k40#, C#14))

(1) 100 <z <200 (2) —-10v2<z<10
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3. ROARERZWMLTER 22 TH T X (S0, A1 10%, B#H1o508, C#2530%)

(1) 0gLz<5 (2) -3<z<3

(3)  2v2<x<5V2 4 -2v5<z<2V2

4. ROARZERZ-TEE c O E RO L. (SH 18D, AfK25F, BH A0, C#H14)

(1) =500 <z <500 (2) —6vV2<ax<5VT
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RETAM BH FEFEX ER 01 FEES

1. ROALEXRZMIETER 222 THITFTX. (S0P, AR15108, BR1350%, C#24 308 )

(1) 0Lz<3 (2) —-l<z<4
0,1,2,3 0,1,2,3

(3) VIOLz<4V2 (4) —2V3<x<3V2
& V102 <32 & —V12< < V/18
SooV16 < <V25 S V92 <V16
& 4<x<5 & —3<zr<4
4,5 -3,-2,-1,0,1,2,3,4

2. ROPEXZH TS Oz ko L. (St 18%, Atk 25, B#k40#, C#H14))

* BHOMEH B oL EEHLUTORROELE, (b—a+1) @

(1) 100 < 2 <200 (2) —-10v2<z<10
200 — 100 + 1 = 101 & —200< 2 <10
101 & S =V196< <9

& —14<LxL9
9 (—14)+1=24

24 &
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3.

4.

ROANERZHI-TER 222 THIT L. (S0, A1 710%, Bk1350%, C#H2730% )

(1) 0£z<5

0,1,2,3,4,5

& V8<2 <50
V9 <2 <V19

(2) —-3<x<3

-2,-1,0,1,2

(4) -25<z<2V2

& V20 < V8
—Vi6<z < V4

<@ —4ZLx<L2

—4,-3,-2,-1,0,1,2

RDOAERZ i 7 §HB x DB RO L. (S 18F, Ak 25, Bik40®, C#157)

(1) —500 < =z < 500

500 — (—500) + 1 = 1001

1001 &

(2) —6V2<a<5/7

& V721 <175

— 64 < 2 £ /169

< —8=zx<L13

13— (-8)+1=22

22 1@
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